Sample Solutions

Assignment 2

CSCI 2132 — Winter 2019

Question 1

(a) Both filel.txt and file2.txt share the same inode, so 1.
(b) Hello there

(c) filel.txt is a regular file that stores the text “Hello there” while file2. txt is a symbolic link that
stores the name of filel.txt. So these two files are different; there are 2 inodes.

(d) cat: file2.txt: No such file or directory

In the case of Question 1b, the files filel.txt and file2. txt refer to the same inode. After deleting
filel.txt, file2. txt still refers to this inode and cat file2.txt happily displays its contents.

Here, filel. txt stores the contents “Hello there” while file2. txt stores a symbolic link to whatever
filel.txt is. After deleting filel.txt, file2. txt still refers to filel.txt, a non-existent file at
this point. The error message says as much.

(e) Hard links to directories are not allowed.

Question 2

(a) I allow two solutions here. The first one counts only headline tags without any attributes:

$ grep '<h[0-9]1>' /users/webhome/nzeh/Teaching/2132/index.html | wc -1
26

The second one counts all headline tags, with or without attributes:

$ grep '<h[0-9][*>]*>' /users/webhome/nzeh/Teaching/2132/index.html | wc -1
30

(b) This question contains a typo; hence, I accept two solutions. The first solution does what the question
asks you to do, but without using wc because wc has no role in listing the files:



(©

d

(e)

$ 1s -1 /usr/bin | egrep '[0-9]{8}'

—rwxXr-xr-x. 1 root
-rwxr-xr-t. 1 root
—rwxXr-xr-x. 1 root
—“rWXr-xr-x. 1 root
—rwxr-xr-x. 1 root
“rWXr-xr-x. 1 root
—rWXr-xr-x. 1 root
—rWXr-xr-x. 1 root
—rWXr-xr-x. 1 root
“rwWXr-xr-x. 1 root
—rWXr-xr-x. 1 root
—rwXr-xr-x. 1 root
—rWXr-xr-x. 1 root
—rwXr-xr-x. 1 root
—“rWXr-xr-x. 1 root
—rwxr-xr-x. 1 root
“rWXr-xr-x. 1 root
—rWXr-xr-x. 1 root
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bsondump
emacs-24.3
mongo

mongod
mongodump
mongoexport
mongofiles
mongoimport
mongorestore
mongos
mongostat
mongotop
mysql
mysqglbinlog
node

ocaml
ocamlc.byte
ocamlopt.byte

The second solution does use wc and does what I meant the question to say: count the files that are
at least 10,000,000 bytes long:

$ 1s -1 /usr/bin | egrep '[0-9]1{8}'

18

$ env | grep '“PATH='

| we -1

PATH=/users/faculty/nzeh/bin:/local/bin:/bin:/usr/bin:/usr/local/bin:/usr/local
/bin:/usr/bin:/local/sbin:/usr/local/sbin:/usr/sbin:/sbin

$ grep -Ei '([aeiou].*){20}' /usr/share/dict/linux.words
pneumonoultramicroscopicsilicovolcanoconiosis

$ grep '“[bp]l.*ing$' /usr/share/dict/linux.words | wc -1

2892



Question 3

1. Window 1:

2. Window 1:

(Then edit the file in emacs and exit emacs.)

3. Window 2:

4. Window 2:

(Then edit the file in emacs and exit emacs.)




5. Window 1:

(Edit the file and exit emacs.)

6. Window 2:

(Edit the file and exit emacs.)

7. Window 2:

8. Window 1:




9. Window 1:

(Edit the file and exit emacs.)

10. Window 2:

(Edit the file and exit emacs.)

(The assignment contains a typo here. It says that the first line should be “A little dwarf”, which is
incorrect.)

11. Window 1:

12. Window 1:




(Edit the file and exit emacs.)
Window 2:

(Edit the file and exit emacs.)
Window 1:

13. Window 2:

(Edit the first line so it looks as required.)

14. Window 1:




15. Window 1:

$ svn log | less

r9 | nzeh | 2019-02-26 12:20:22 -0400 (Tue, 26 Feb 2019) | 1 line

r2 | nzeh | 2019-02-26 11:55:20 -0400 (Tue, 26 Feb 2019) | 1 line

Step 3,4

$ svn diff -r2:9
Index: filel.txt

--- filel.txt (revision 2)
+++ filel.txt (nonexistent)
@@ -1,4 +0,0 @@

-A little dwarf

-jumped into a pond.

-His beard got wet

-and was no longer blonde.
Index: file2.txt

--- file2.txt (revision 2)
+++ file2.txt (revision 9)
@@ -1,4 +1,4 @@
-A little elf
-climbed into a tree,
-to build a house
+A big ogre
+climbed into a bush,
+to build a shed
that no one could see.
Index: file3.txt

--- file3.txt (nonexistent)
+++ file3.txt (revision 9)
@@ -0,0 +1,4 @@

+A little elf

+jumped into a pond.

+His beard got wet

+and was no longer black.



